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PREC 11 2.0 Trigonometry & Angles Review

1. Identify the hypotenuse, adjacent and opposite sides associated with angle 8 in each triangle.
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Remember the Trig Ratios!
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2. Determine the value of each trigonometric ratio. Express the answer as a fraction.
Then find the Angle.
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3. Evaluate each trigonometric ratio, to four decimal places.

a) cos 89° b) tan 42° ¢) sin 45°
0-01719 0.9004 o.77071 1\
4, Evaluate the trigonometric ratio cos 50°. Draw a diagram to explain what your answer
represents.
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5. From the top of a building a surveyor determines the angle of depression of a parked car on

the street below to be 34°. If the building is 28 m high calculate the distance from the base
of the building to the parked car. Answer to the nearest metre.
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6. From the top of a cliff 110 m high an observer sees two boats, one directly behind the other,
heading for shore. The angle of depression from the observer to the boat farther from the

observer is 48° and the angle of depression to the nearer boat is 57°. Calculate the distance
between the boats, to the nearest metre.
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7. For each diagram, determine the measure of the unknown angle.
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8. Use the diagram to help answer the questions. A
b udes
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a) Name the angle at vertex A in two different ways.
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b) What are two different ways to express the hypotenuse in AABC?
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¢) Express the Pythagorean relationship for AABC in two ways.

Gin eyt or (ABYTHBOY = (ACY
d) What is an expression for sin A?
SN/ =
¢) Write the equation for tan C.
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Assignment: Trigonometry & Angles Worksheet
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